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0.707

43.95

X

X

+

5.534

4.534

46.75

+

.132) x 1.705
.800) x 4.295

2.200) + 1/2 x
x 0.600 -

.118) x 1.705
.800) x 4.295

1/2 x (0.707 +

90.70 m2

3| ¢

8.964

800

2864

2200

3.101

5863

(5.162 + 5.162)

0.058 «x

0.000) x

0.210

0.500

4295

+

10.231

0.800

910

9.321 |

10.
10.

10.
10.

53 m2
06 m2

.90 m2

52 m2
13 m2

.77 m2

.38 m2

46.

75 m2



®

150

800

700

©)

1L70 810 170

800 | 19
700|
|
~
- AF
—an
]
V]
|

S1

GL

GR

[sTRC )

0.030)

0.030|

0.194]

0.188|

e | o
Sl T

Al= (1.600 + 1.150) x 2 x 0.194

Al= (1.600 + 1.150) x 2 x 0.188

A2= (1.300 + 0.810) x 2 x 0.030 x 2
m2 46.32
m2 75.97
m2 62.70
m2 90.70
m2 2.35
m2 278.0

0

.07 m2
.03 m2
.25 m2

.35 m2



2.4

SD345
(kg) (kg) C )
D51 0 D51 0 0
D41 0 D41 0 0
D38 0 D38 0 0
D35 0 D35 0 0
D32 0 0
5 5| D29 D32 0 5
D25 2447 0
D22 902 0
15 —[] D16 D25 8694 5
D16 4584 0
D13 1839 D13 1839 0
10533 10533 0
(38 D51 )
0

- ~ 10533 0%

oL Im|[1 L 2m|2 L 3m|[3 L 4n|4 L 5m|5 L 6m
D13 36 - - 5 40 -
D16 - 47 - 5 27 -
D19 - - - - - -
D22 - - - - - -
D25 - - - - - -

36 47 0 10 67 0

160




2.5

4850

Al=
A2=
A3=
A4=
A5=

(11.70
9.340
6.900
6.900

0 +
X
X
X

(4.900 +

H 30m
4.500
3.000
5.610
6.260
4.850

+ 4.500) x

+ 4.900) x

3.000

5.950

62.10
28.02
38.71
43.19
87.17

- v
i 7 7 A I—
g 7 7 o B
| )
: “‘j:%ﬁ | :
g ™ g
g g g \
Tz |
|
I
SN R S— I—
.00 | il il ﬂ Ll ﬂ Nl ﬂ | ﬂ
| |
12900
11700
v
.
| (2-2) (3-3)
oy
1100, ?0 — 1100,
I A o e
& i S o e T AL
e 5510 e
Q%§ 3.0m) % §"g §— —*“E**
i —
(H=5.951 r\) ] TP+3.822 TP+3.822
g ) & ] ]
‘;f A‘ I 6900 6900
| | €

m2
m2
m2
m2
m2

259.2

m2



2.6

L | L
/.
iy
H 4m f  40kN/m2
V= 1/2 x (2.476 + 2.281) x 0.200 x 8.238
2)
H 30m f  40kN/m2
( =(50+100)/2=75¢m)
v=1/2 x (4.766 + 4.266) x 0.500 x 7.037
1-1 2 -2
« ) C )
’7#5 . »,&V g ) #j % g N
TS ¥ j i
— T - T
3-3 4 -4
C ) C )
o / e j 27 =
(#j 22 g g . 74‘7 / H |
1705 4295 jjl7ﬂ§ 4295
U
3)
H 30m 40kN/m2  f 8O0kN/m2
( =(393+80)/2=237cm)
Vi= 1/2 x (1.495 + 4.357) x 0.600 x 4.294
V2= 1/2 x (2.224 + 5.087) x 0.600 x 4.295

3.9 m3

15.9 m3

7.5
9.4

m3
m3

16.9

m3



(ock

9.700 x 7.200

60.40 x 0.100

(
(9.700 + 7.200)

(RC-40, £=200mm)
9.700 x 7.200

60.40 x 0.200

800
700

18N/mm2, t=100mm)

- T1t/4 x 1.000

x 2 x 0.100

- T1t/4 x 1.000

170,

x 1.000 x 12

x 1.000 x 12

740

700

800
740 |

ﬁ@\ %@
310 500 310

1120

I_—J'e

VP75

—
1

200 mm

0.740 m
0.740 x 8

0.970 m

2

0.970 x 2 =

@185 90><330
2

60.4 m2

6.0 m3

3.4 m2

60.4 m2

12.1m3

GL

)

0.030]

0.030|

0.194]

0.188|

5.9m

1.9m



2.12

12000 9200
1500 9500 1004 1100 7000 1100
I

TP+0.000 ;
() +3.980 +0.901
) A
V = x 9.200 x 3.079 339.9 m3
@
Im 4am
V= 9.500 x 3.600 x 0.879 30.1 m3
V= 8.238 x 0.700 x 0.879 5.1 m3
V= 9.500 x 7.000 x 1.900 126.35 m3
V= 9.700 x 7.200 x 0.100 6.98 m3
V= 9.700 x 7.200 x 0.200 13.97 m3
182.5 m3
= 339.9 - 182.5 157.4 m3
(©))
V= - 157.4 / 0.9 165.0 m3
C))
A= X 7.200 - 71t/4 x 1.000 x 1.000 60.4 m2



2.13

R3T(A)02

T.P.+3.98m
Dep.=90.00m

102 30 40 50

+3.822 4
BZ 5

10
As?2

15
Asc

20
Dcl =0
Dc2

60

AN

Z
Z

|

843

5400

19

38

7020

5440

10630



o ¢ 1000 L= 86.000 m = 12
1) 1
1
(mm) (kg/m) (kg) (k)
1000  t=12| 10,500] 1 292 3,066 3,066 |  SKK400
1000  t=12| 10,500 5 292 3,066 15,330 |  SKK400
1000  t=12| 11,500] 1 292 3,358 3,358 |  SKK400
1000  t=12| 11,500] 1 292 3,358 3,358 |  SKK400
25,112 kg
PL 25 >< 12| 2,993 2 2.36 7.06 14.12 | 55400
PL 25 < 9 50| 6 1.77 0.0885 0.53 | 5400
PL 50 > 4.5] 3,082 7 1.77 5.40 37.80 | 55400
PL 6 > 12 30| 42 0.565 0.0170 0.71 | 5400
PL 300 < 12| 3,179] 1 28.3 | 89.97 89.97 | ssa00 |
SL
PL 200 < 12| 3,179] 7 18.8 | 59.77 418.39 | ssa00 |
561.52
PL 100 < 16| 120] 16 12.6 | 1.51 24.16 | swdgon |
24.16
K1 D32 3,030 20 6.23 18.88 378 |  SD345
K2 D13 3,820 10 0.995 3.80 38 | D345
K3 D13 2,99 5 0.995 2.98 15 |  sD345
431 kg
25,112 kg(SKK400)
561.52 kg(SS400)
24.16 kg(SM490A)
SL A= 1.00 > 1T > 52.50 = 164.9 m2
12
1
1000 [ t=12 | kg 25,112 | 301,344 |  SKK400
kg 25,112 | 301,344
D32 kg 378 4,536 |  SD345
D13 kg 53 636 |  SD345
kg 431 5,172 | D345
kg 24.16 290 |  SH490A
kg 561.52 6738 |  S5400
sL m2 164.9 1978.8




2)

3)

4)

5)

|_y: > D >
= > 1.00 =<
Sl= 6.28 =< 12
ock=24N/mm2
TT/4 > 0.976° > 1.540
1.152 > 12
(t=9mm)
1T/4 =< 0.976°
( 0.748 = 0.009 > 7850
0.748 > 12
T > 0.976
3.07 > 12
7 < 12

kg/m3

6.28 m

75.4m

1.152 m3
13.8 m3

0.748 m2
52.85 kg)
8.976 m2

3.07m
36.84 m

84



6)

V= Tt/4 > 1.00° > Ln

L1><N1 L2>N2 L13><N13
>L
12
L(m) V(m3)
1 1 1 1
1 B2 8.43 101.16 6.6 79.2 3
2 As2 5.40 64.80 4.2 50.4 10
3 Asc 7.02 84.24 5.5 66 6
4 Acl 19.42 233.04 15.3 183.6 4
5 Dgl 7.03 84.36 5.5 66 35
6 Dcl 5.44 65.28 4.3 51.6 14
7 Dg2 1.76 21.12 1.4 16.8 25
8 Dc2 10.63 127.56 8.3 99.6 7
9 Dc3 6.00 72.00 4.7 56.4 16
10 Dc4 8.15 97.80 6.4 76.8 18
11 Dg4 2.56 30.72 2.0 24 50
12 Dg5 3.12 37.44 2.5 30 33
13 Psct 3.56 42.72 2.8 33.6 83
88.52 1062.24 69.5 834.0
N = 15.9
>V= 834.0 834.0 m3



N
H=
N

10

800
700

0

1600 1150
L5 1300 15! 170, 810 170
40 1120 0 40 630 50
T - j < T lﬁ
Iz LN
! ol 8 o
o o
X | ©60 4 8~ R | H
. 2

FERDT

o | i pioh | o
310 | 500 | 310 4q_350 L4
63

0
0

300 x 0:810 + 1220 x 0730)
- Fe/4 x 0060 x 0060 x 0700 x

X

@ (cck=36N/m2)
V= /2 x (250 + 7.251) x 0.210 x 0.900

@60 4

s1

oL GR JSTR( )

[t 0.030 0.030
K 0.194 0.188

2 x 0040

4

4

0147 x

2

0-039 m3
-0-009 m3
0-032 m3
0-093 m3
-0-008 m3

0147 m3
0294 m3

14 m3

3 m2



6903

6000

222772,

2 x
2 x
0-445
2 x

0250 x 0010 x

€0-250 =+ 0-320) x
€6-320 + 0445 x

10.231

910

9.321

x 0030 x 6-903

0250 x 0010 x

o
o/

N

2 x
2 x
0-445
2 x

o/

39 m3

0250 + 0-320) x 0-690 «x
€0-320 + 0.445) x 0-180 «x

x 0030 x

2

0250 x 0010 x
+ 0694 + 0219 —

2
0-030 )

6903

903 6000

;/‘//j/f/f////&

N

N

x 6903

9.547

910

8.637

136 m3
0-48 m3
0-09 m3
0-01 m3

1-94 m3

136 m3
0-48 m3
0-09 m3
0-01 m3

1-94 m3

039 m2
014 m2
0-03 m2
0-00 m2
1279 m2

13-35 m2

039 m2
014 m2
0-03 m2
0-00 m2
1279 m2

13-35 m2



Vi= 12
V2= 112

Dy——

A = (2062 + 7-443 _ 2.001) x 0.500

H—

A = (5980 — 5:974) x 0500

A = 6994 x 0500

A = 6994 x 0480

By—
Al= 12
A= 12

x £6-994 =+
x =670 +

679 x
443y x

679 x
443y x

\\\\\\\\\\\\\\\\\\\\\\\\\\w

T
F

x €6-994 =+
x =670 +

5-058
1995

5-958 x 0-500
1995 x 0-500

o
o
;I:

= 20-9 m3

2 m3

= 2810 m2

= 5.75 m2

= 5.98 m2

= 3-50 m2

= 3-36 m2
= 12.84m

= 419 m2
= 14-5 m2
= 5640 m2




RoA=ASan 554

Es| 4 |- MWL

o




N
[IEN
(O]

~
l.A
N

5536

. S

1900

TP+0.000

x 4054

o/

05600 x 0-460

- T/ x 0233 x 0-233 )

o0 9.321 —
L ZZTZ A, T
8.637 = I
N
(Wadoxt=30mm) §
8
~| o e
B :
50
L=6G2mn 8|
8|
: ~1.500%, R TP+3.822
3.101 = —3 3.101 3.101 ‘Cﬁ 3.101
3119 2000 3119
E g g
1.201 — — — — 1.201 1.201 S S S 1.201
il I I I I i) 04t40) | | | sii
| | | | | | |
J<, J<, JQ J<, 1P20.000 J@ JQ JQ
|
| . —
7 N 7
T
NS N
\
\
] \ . 233
- Z\ 16]5 200 16.5
X
©200
(
g e+
N \4‘/7
o
n
(b it
400 RC-40

1 m

11 m3

06 m



Al

t 69.960 69.960
2H-350><350><12><19 t - -
2H-400><400><13>=<21 t - -
H-400><400><13><21 t - -
H-300><300><10><15 t - -

t - -

t - -

m2




Al

/1)

4,5
(m) (kg) (kg)
11.000 60.0] 660.0[ 106 [ 69,960  sv295
69,960

69,960




6408

1680 3048 1680

10.340m

1680

5x10

510 %

27,870

9144
12504

N\ AN\

5x10

1680

A=65.012

A=27.871+((10.340+23.672)*2)=95.895 95.90n2

$=1/50
1-1
6408
1680 2048 1680
GH=3.400 p
¢ [ el
< > 5
& S g
2-2
12504
1680 9144 1680

5%20 % 5%20 a
643,400
TR

L
4
A
%
>
1400

1M |1 m @2)
3.048 | 9.4 | 27.871

1M1 m (m2)
6.408 | 12.504 | 80.126

1.400 | 75.60

75.6(m3/ )><3( )=226.8
1 #3000
95.9(m2/ )><3( )=287.7
1,524><6,096><25mm
a / )><3( )=12
62
(1524<6,006=25mm) 1.823( / )><4( /  )<3(  )=21.876
1.524<6.096><12 111.48
1,524><3.048><25mm
6( / )><3( )=18
62
(1524<3,04825mm) 0.911( / )><6( /  )=<3(  )=16.398
1.524<3.048<18 83.61

230

290

12

21.88
111.5

18

16.40
83.6
0.78

2.2
0.78
2.2

m2

m2

m3

m3




Im

$3000

><100kg/m3

4m

NN-10

200m3

20

70m3

20>=<25
20><25

200m3-70m3  130m3

200

20

70

500
500

130

m3

m3

m2
m2

m3




